Radicals:

1. 4243 =435 =343 2.3~125 =—35° =5
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3. 5(x+2) = (x+2)¥(x+2)? 4. x4 =4x =x*4x

7
5. (x’ 11)3 Xy =Xy xy? 6. (3x+4)% =3 (3x+4)" =(3x+4)°¥(3x + 4)
7. Y32x7 = 42°x" = 2x42x° 8. {/160x2yH = §[2° - BxyH = 2x“y?§/5x‘y
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9. ¥x° = (x)5 x6—x2:\/; 10. &/x® = (x)L x12: %:\/;
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5/x + 74/x =124/x 12. 64/x - 3Ux + Ux = 4¥x

73x - 28x? = 7¥x - 23¢x = 5Yx

34X + 6/X — 324X = 53/X) = 34X + 6% — 64X +154/x = —34/x + 21X
38X — 4+/2X = 327X — 44/2X = 3- 242X — 42X = 242

_2316%* +5x3/54x = —2¥2*x* +5x32-¥x = —2-2x3/2x +5-3x¥2x =
—4x32x +15x¥2x =11x3/2x

2@(4@—2):8-5x—4\/5_=40x—4\/§

43X (24x +543)= 84/3x% + 30v/3x = 8x+/3 + 30 - 3Vx = 8x4/3 + 90V

(VX -3)2x+3)=4Vx* +6vx 68X ~9 = 4x -9
.(5&+2X3\/§—1)=15\/x_2—5\/§+6\/§—2=15x+&—2
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(—S&W: —3X2%2-x3=-3x%.x5 =-3x6 = —E’ﬁ/x—5
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12,12 _ 12/ 23,25 219(y 11
Xy =XTYT =Xy {XY

2 2 N2x  22x  2x

135 6 6 8 4

6 6 {2°xy =6£/23x3y3 _ 34/23x3y?

4/32x9y13 Q/stgym 4/23X3y3 22 x3y4

T[T T ik 27X
ax® N22x  4f2yd 42w 2x

2 1 2 1 11

2x°%y*

325xy* \/5xy (52 Xy )3 (5xy)2 53 Xfyé 52 X*yf 512 x12y12 512 x12y12
4/125)( y (53X3y—2 54 X y 5192 X192y1§

1\2/55 Xyzz _ y1\2/55 xy

5 5 '(\&+5)_5\/§+25
VX=5 " (Vx-5) (Vx+5)  x-25

-2 (Vx=2) (3%%-1) g JX-pvx+2 ax—TWx+2

3&+1_(3\/§+1)'(3\/§—1)_ 9x-1

Jx-5=0=Vx =5=(Vx) =(5) = x=25

I9x-1
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2
32. 3&+21:4:3(=_17:>(3&) :(_17)2:9X:2893X:28%
2
33. 2&—12:—7&+16:»9f=28:>(9&) —(28)° =812=784=2 :78%1

2
V13+4x = x+4= (V18+4x) =(x+4) =13+4x =" +8x+16 = 0= X" +4x+3=
0=X+3)(x+) = x=-3,x=-1

34

Bx+4—\2x—4=2=(\Bx+4) =(V2x—4+2) >3+ 4=2x-4+4V2x 4 +4=

35. x+4=42x-4 :(x+4)2 :(4\/2x—4)2 = X* +8x+16=16(2x - 4) =
X? +8X+16=32X-64= X’ -24x+80=0= (x—20)(x-4) =0=>x=20,x=4

36. \/\/;+1:3:>(\/x/§+1)2:(3)2: X+l=9:>\/;=83(\/;)2 :(8)2:>x=64



